

TD4:

exo 19: On a:

$$P_n + I_n = \sum_{\substack{h=0 \\ h \text{ pair}}}^n \binom{n}{h} + \sum_{\substack{h=0 \\ h \text{ impair}}}^n \binom{n}{h} = \sum_{h=0}^n \binom{n}{h} = 2^n$$

et

$$P_n - I_n = \sum_{\substack{h=0 \\ h \text{ pair}}}^n \binom{n}{h} - \sum_{\substack{h=0 \\ h \text{ impair}}}^n \binom{n}{h}$$

$$= \sum_{\substack{h=0 \\ h \text{ pair}}}^n \binom{n}{h} (-1)^h + \sum_{\substack{h=0 \\ h \text{ impair}}}^n \binom{n}{h} (-1)^h$$

$$= \sum_{h=0}^n \binom{n}{h} (-1)^h = 0$$

donc  $P_n = I_n$ .

Et comme  $P_n + I_n = 2^n$ , on a  $2P_n = 2^n$

et finalement  $P_n = I_n = 2^{n-1}$